(5) Initially 1.50 moles of N2(g) and 3.50 moles of H2(g) were added to a 1 L container at 700 °C. As
a result of the reaction the equilibrium concentration of NH3(g) became 0.540 M.

(a) What is the value of the equilibrium constant for this reaction at the given temperature of
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7L
Nag) + 3Hz1 = 2NHsz(g) 5 .S’L
T |.50m 3soM  OM ]«(c - [NH;K - o.stoM
em———

= 3
3 3026947

E L13M 2.69A O.54oM

In the above reaction we can monitor the change in concentration of reactants over
time (just as we discussed when dealing with kinetics) and we can plot the data as

follows:
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(b) Label each data plot as either[H2],[N2] or[NH3].

(¢) Why does one data plot show an initial positive slope whereas the other two

Concentration (M)

data plots show initial negative slopes?
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(d) Why does the uppermost plot have a steeper initial slope than the middle
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(e) At which time a, b, c or d is an equilibrium state reached? C

(ii) The equilibrium constant for this reaction was calculated as shown below. What is

Kc for the reverse reaction?
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